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[ AlErHEONE | Bmks 02051035 [ ERiEa D1 PG | A iRk
) SERMO TinICHEET S ZERH A
Eﬁg TREOBEBOSILHOKRES TERFEDOHBEEILNOKRES TEFEOBEBOEILHOKRES TREOHBESILADKES
&S X 4 s | FTinh oD EERE jJ(Dx%f‘é X 4 TiEMLDKE | H& jjo)jtafé R 4 B | t@wmAhSOEE jmxa;g K 4 Lighsnlks | B jjo)jt%'_’:é
(m) (m) (kN/ ) EEBf(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
7 100kN/mM%#BZ % -~ - -|13mEFBZB| 000 ~ 071|452 21.84 | 100kN/m#%#8 2% - -~ -|3mEBZB| 5,00 ~ 1252| 4.32 21.84
s 1.00 | 000 ~ 195 16.02 | #nLSY | 0.71 ~ 1.95| 3.00 16.16 st 1.00 | 6.00 ~ 1252 16.02 | =hst | 5.00 ~ 5.00| 3.00 15.16
2 100kN/mM%#BZ 5 -~ - -|13mEFBZB| 000 ~ 033 3.43 17.33 | 100kN/m#%#B 2% -~ -|3mEBZB| 1000 ~ 13.46| 3453 17.33
s 1.00 | 0.00 ~ 3.60 45,47 | =N | 0.383 ~ 3.60 | 3.00 16.16 st 1.00 | 6.00 ~ 1346 45.47 | =nS | 5.00 ~ 10.00]| 3.00 15.16
3 100kN/mM%E#BZ 5 -~ - -|3mEBZD ~ 100kN/mM#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 485 60.40 | =4t | 0oo ~ 0.00| 1.66 8.40 st 1.00 | 6.00 ~ b6.15 60.40 | =nhst | 5.00 ~ 56.15| 1.66 8.40
4 100kN/mM%#BZ5 | 1.00 | 000 ~ 040 105.84 |3m%E#BZ 5 ~ 100kN/mM&#z25 | 1.00 | 1250 ~ 13.77| 10584 |3m%E#BzZ5 ~
s 1.00 | 040 ~ 818 100.00 | #nlst | 0.00 ~ 818 | 2.62 1276 st 1.00 | 6.00 ~ 1250 100.00 | =hst | .00 ~ 1377| 2.62 12.756
5 100kN/m%E#BZ5| 1.00| 000 ~ 066 109.82 |3mEEZD ~ 100kN/mM&#z25 | 1.00 | 11.79 ~ 1384| 109.82 |3m%E#Bz5b ~
s 1.00 | 0.66 ~ 844 100.00 | Fnst | 0.00 ~ 844 | 2.45 12.40 st 1.00 | .00 ~ 1179 100.00 | =hSt | 6,00 ~ 1384| 2.45 12.40
P 100kN/mM%BZ 5 -~ - -|3mEBZD ~ 100kN/mM%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 6.24 78.33 | EnLS | 0oo ~ 624|292 14.76 st 1.00 | 6.00 ~ 1384 7833 | TNLSY | .00 ~ 1384| 2.92 14.76
- 100kN/mM%#BZ 5 -~ - -|3mEBZD ~ 100kN/mM%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 747 95.38 | #nLS | 000 ~ 747\ 2.71 13.68 st 1.00 | 6.00 ~ 1420 95.38 | =S | 6,00 ~ 1420 2.71 13.68
P 100kN/mM%E#BZ 5 -~ - -|3mEBZD ~ 100kN/mM%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 6.25 78.50 | FnLSY | 000 ~ 625|291 14.69 st 1.00 | 6.00 ~ 1358 7850 | TNLSY | 6.00 ~ 1358| 2.91 14.69
9 100kN/mM%#BZ % -~ - -|3mEBZD ~ 100kN/mM#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 766 9824 | #nLS | 000 ~ 766 | 2.61 1319 st 1.00 | 6.00 ~ 1329 9824 | =hLS | 5.00 ~ 1329| 2.61 13.19
10 100kN/mM%#BZ 5 -~ - -|3mEBZD ~ 100kN/mM%#8% % ~ -|3mEBZD ~
s 1.00 | 000 ~ 7.74 99.27 | #nRS | 000 ~ 7.74 | 2.66 12.93 st 1.00 | 6.00 ~ 1280 99.27 | #nS | 5.00 ~ 1280 2.56 12.93
11 100kN/mM%BZ 5 -~ - -|3mEBZD ~ 100kN/m%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 716 91.05 | #nS | 000 ~ 716 | 2.76 13.94 st 1.00 | 6.00 ~ 14.04 91.05 | =n4 | 5.00 ~ 14.04| 2.76 13.94
12 100kN/mM%E#BZ5 | 1.00 | 000 ~ 059 108.69 |3mZEEZ 5 ~ 100kN/mM&#z25 | 1.00 | 1057 ~ 1220| 108.69 |3m%E#BzZ5 ~
s 1.00 | 0.59 ~ 837 100.00 | #nst | 0.00 ~ 837|223 11.29 st 1.00 | 6.00 ~ 1057 100.00 | =hst | 6.00 ~ 1220| 2.23 11.29
13 100kN/mM%#BZ % -~ - -|3mEBZD ~ 100kN/mM%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 423 5293 | #nS | 000 ~ 423 2.01 10.156 st 1.00 | 6.00 ~ 5.00 52.93 | =hs | 5.00 ~ 5.00| 2.01 10.15
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ ZFhst ~ FhLst ~ st ~
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